Connect the dots! Count by 5's.

edHelper.com



Connect the dots! Count by 5's.

g5 e
100

80 w

105 w

g5 w
al e

TEw
LTl

G5 w
G0 =
55 pidl

pldd

9150
S0 =
155

oli0

olf 185 »
170

175 o
o180

40 = o185

slo0

195 o

»35 5 00
0w 10w

5. *15

olil
15 »

ol20

9125

ol30

K]

edHelper.com



Connect the dots! Count by 5's.

55

sl

oG5

90
%70

o35
gl =

o=

w2(]

edHelper.com



Connect the dots! Count by 5's.

155
L |
170
150 w
[ ]
175
1
180 w
130 140
10 5.
i * aE
100 ¢ 120 w125 wld0
\\_‘_ [ ]
g5 =

25

160

o185

)

5
10
L 4
!

edHelper.com



Connect the dots! Count by 5's.

45w
S0 w

edHelper.com



Connect the dots! Count by 5's.

»
[
80 w
| ]
145 gidD
0w
150
Gow
156 @
60 w
w60
95 g5 o
S0 mm
5w
w75
A0 ® o gia0
35w 15-15
[
a0

w!00
120 g wl05
15 o
__aliD
jﬂ
25

edHelper.com



Connect the dots! Count by 5's.

30
[
w35 25
wl]
40 ‘Ifj 140
[ 3
135 &
150 @
0w
/'5 130 o
53 190
&0 . 12 w

edHelper.com



Connect the dots! Count by 5's.

120
»
L ]
15 125
10 o 1
[
135
102 » 140 155 160
| -
00 145 210 .
G5 w
80 =
L 3
180
gh =
g0 =
76w
LTV
® 0
15 65 »
20w
GO w
2h . EC
0w 50
[
35w 45

edHelper.com



Connect the dots! Count by 5's.

45 »
0w

fhw
ol

G5 w

LT
765w

B0 =

edHelper.com



Connect the dots! Count by 5's.

T
Bhm 95
100 w
o O
105 w
L |
Kl
10 w
0w 15 =
. /mn -
Sl @

55w

G0 w

=
inil

130 w

45w

135 w

0w

'.HEI

Sk
35w

edHelper.com



